Fit transits CasA Oct. 2017

t0 Transit time

SigmaTime : transit duration (1D gaussian lobe sigma)
A : Amplitude (fit on | Vij | )
B Offs t ft |Vj|
Phase : Phas tT sit (degre
Phas Slp dPh/dtdg/ ;

More checks / debug needed

Feb 2023




10 (freq) - Baseline=F9_9

280
260 |-
240 |
220
200 |-

180 |

160 |

700

720 740 760 780
A (freq) (Amp) - Baseline=F9_9

46}
44}
42
4
38}
36F
34}

T T T T ]

3.2L
700

720 740 760 _ 780 _ 800

SigmaTime (freq) - Baseline=F9_9

1020 F
1000 |
980 |
960?
940
920
900 |

/\

700

720 740 760

780

B (freq) (Offset) - Baseline=F9_9

17.8}
17.7F
176
175¢F
174 ¢
17.3F
17.2F
171

17

T T T

M

700

720 740 76

T T

10 (freq) - Baseline=F11_11

= -
L 4
L 4
s 4
TR " " FRRR |

720 740 760 780

A (freq) (Amp) - Baseline=F11_11

1200

1150 |
1100
1050 |

1000 |

19.45
19.4
19.35
19.3
19.25
19.2
19.15
19.1
19.05
19

700

Fit on Auto-Correlations

SigmaTime (freq) - Baseline=F11_11

720 740 760 780

B (freq) (Offset) - Baseline=F11_11

720 740 760 780



FO_11

46F
45¢
44%
43¢
4.2F
4.1¢

3.9E
3.8E
3.7¢
3.6F

10 (freq) - Baseline=F9_11

200 — S —
190
180 |
170

160 |
150 | |
140 |
130 F
120
110 £

10:l R S S T
Q700 720 740 760 780 800

A (freq) (Amp) - Baseline=F9_11

4.7 :

4

700 720 740 760 780 800

PhaseAtTransit(freq) - Baseline=F9_11

T T T T T T T T T T T T T T T T T T T T T
o

-

100 £ :
50 i
|
|

00} |

150 :

/

700 720 740 760 780 800

SigmaTime (freq) - Baseline=F9_11

1100

1050 |

1000 |
950 |

900 |

T

850 |

T T | T  E— —r—T T
e

700 720
B (freq) (Offset) - Baseline=F9_11

740 760 780 800

0.1

oéa
01F

0.2 ¢

r T r

LA |

T T

T

0.3F

T T

04F

o1

05F

r T T T r r T v T v r T — r r =

=

700 720

740 760 780 800

PhaseSlope(freq) - Baseline=F9_11

41315#[\*/\
-0.315} \

0.32¢
-0.325
-0.33
-0.335
0.34F
-0.345
0.35F

TTTTTTT T

TTTT

T T T T T T T T T — T T T

700 720

740 760 780 800



10 (freq) - Baseline=F1_3
300

290
280 :
270 F é
260 f :
250 | :
240 | :
230 f §
220 | ;
F1 3 700 720 740 760 _ 780 800
A (freq) (Amp) - Baseline=F1_3

1 A bl 1 | PR S| " "

700 720 740

PR B "

760 780 800
PhaseAtTransit(freq) - Baseline=F1_3

ST

SigmaTime (freq) - Baseline=F1_3

1000 | /Y
980 |
960 |
940 |
920 f

o
w
(4]
L

" | " PR 1

PR

720 740 760 780 800

PhaseSlope(freq) - Baseline=F1_3

041F

0.4f
0.39
0.38}
0.37}
0.36
0.35F

T T T T T T T T T T T T T T T T

700



10 (freq) - Baseline=F1_5 SigmaTime (freq) - Baseline=F1_5

1000 |
980 |
960 |
ol
920
900 |

) S VA ¥ 880
F1 5 %00 720 740 760 780 800 700

0.18¢

02}
0.22}
0.24f
026}
028§

03}
0.32}
0.34F
0.36F
-0.38f

0.82F :
0.8
0.78 |
0.76
; | | o7
OF : 0.72 ;—_/ﬂfﬁ f :

: ] 0.7
_ : 0.68
-100 : 0.66 | { :
50} y ] s

..........................

..........................




F1_7

10 (freq) - Baseline=F1_7

350 |
340 |

330 |
320 |
310
300

29 :1 PP S T S
Q700 720 740 760 780 800
A (freq) (Amp) - Baseline=F1_7

700 720 740 760 780 800
PhaseAtTransit(freq) - Baseline=F1_7

710 720 730 740 750 760 770 780 790

980 |
960 |
940 |
920 ¢

0.15}
0.25}

-0.35
700

0.94F
0.92F

0.88 |
0.86f

SigmaTime (freq) - Baseline=F1_7

T T T T | I T T T ™7 T T T

" 1 PR PR | " i " 1 " i " i 1 i " i " 1

720 740 760 780 800

0.2}

0.3}

" 1 i " i " L " " " 1 " i " i 1 M M " " 1

720 740 760 780 800
PhaseSlope(freq) - Baseline=F1_7

0.96

0.9}

...................................

710 720 730 740 750 760 770 780 790



10 (freq) - Baseline=F3_5

..........................

SigmaTime (freq) - Baseline=F3_5

1000 [/
980 |
960 |
940 |
920 |

| T T T PR I —

700 720 740 760 780 800
B (freq) (Offset) - Baseline=F3_5

----------------------------

0.2} ]

I
PR B R

0.25}

0.3}

0.35]

0.4F
0.395
0.39F
0.385
0.38F
0.375
0.37f




